Week 2
MATH 4A
TA: Jerry Luo
jerryluo8@math. ucsh.edu
Website: math.ucsb.edu/~jerryluo8
Office Hours: Monday 9:30-10:30AM, South Hall 6431X; Math Lab hours: Monday 3-5PM,
South Hall 1607
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3-2.2 Find the value of « for which v = —96 is in the span of the set
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3-2.3 Find a set of vectors {u,v} in R? that spans the sclution set of
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. 1 h : -106
3-27 Let ay = |3|,00= |=11|,and a5 = | —14
1 -5 -5

This set will span R?, unless h is what?
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329 A = i:wtl 14 ——14} . Is it true that Az = b has a solution for every b7
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